Macroeconomics 365Q – Matthew Baker

First Practice Problems

I.
A Classical Macro Model

Consider the following simple neoclassical model of the macroeconomy:


[image: image1.wmf]G

I

C

Y

d

+

+

=



[image: image2.wmf]Y

L

K

F

Y

s

=

=

)

,

(


Further, suppose that:
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and suppose that 
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Questions/Problems:

1.
What is the marginal propensity to consume?

2. 
Solve the model for the equilibrium interest rate, 
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. What happens to the equilibrium interest rate if:

a) Government spending increases by 25 units.

b) Taxes increase by 25 units.

c) Autonomous consumption (consumption that does not depend on disposable income) increases by 15.

3.
Illustrate the solution to the model graphically, by plotting the savings function

and the investment function (a loanable funds market). How do each of the changes in 2) above change your picture?

II.
National Income Accounting

For the following fictitious economy, calculate national income, and each firms’ contribution to national income, using the sum of factor payments, value added, and total expenditure on final goods approaches.

	
	Wheat farm
	Apple orchard
	Beer brewery
	Bread maker

	Total sales
	3000
	2000
	2000
	3000

	Wage payments
	1000
	1500
	500
	1000

	Purchases of wheat
	-
	-
	1500
	1500


III.
Neoclassical income distribution and Cobb-Douglas production function.

Suppose that the aggregate production function for the economy is 
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1. What shares of national income do capital and labor receive?

2. Suppose that 
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. What happens to total output if the labor force 
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 increases by 20% (the percentage change in output)? What happens to total output if the capital stock increases by 50% (again, percentage changes)?

3. Suppose that 
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 increases by 50% due to an advance in technology enabling more efficient use of labor and capital. What happens to total output?
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